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10.

Calculate each quotient.

61 ) €1952.00 2. 69 ) €6693.00 3. 43) €3121.80
65 ) €3224.00 5. 57 ) €4890.60 6. 85) €3041.00
44) €3282.40 8 53 ) €4738.20 9. 31) €2914.00

If 37 identical lanterns cost €2945.20, how much did each lantern cost?
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Dividing Money (A) Answers

10.

€32.00

61 ) €1952.00
—€1830.00

€122.00
—€122.00

€0.00

€49.60

65 ) €3224.00
—€2600.00

€624.00
—€585.00
€39.00
—€39.00

€0.00

€74.60

44') €3282.40
—€3080.00

€202.40
—<€176.00

€26.40
—€26.40

€0.00

Calculate each quotient.

€97.00

69 ) €6693.00
—€6210.00

€483.00
—€483.00

€0.00

€85.80

57 ) €4890.60
—€4560.00

€330.60
—€285.00

€45.60
—€45.60

€0.00

€89.40

53 ) €4738.20
—€4240.00

€498.20
—€477.00

€21.20
—€21.20

<€0.00

€72.60

43 ) €3121.80
—€3010.00

€111.80
—€86.00

€25.80
—€25.80

€0.00

€94.60

85 ) €8041.00
—€7650.00

€391.00
—€340.00

€51.00
—€51.00

€0.00

€94.00

31 ) €2914.00
—€2790.00

€124.00
—€124.00

€0.00

If 37 identical lanterns cost €2945.20, how much did each lantern cost?

€79.60
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